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0°<x<90°)
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@ cosB = x;

=)3

@ tanA

= V4

® tanB



® a=ccosB

@ c¢=asin(90° - B)

B ¢c=bsinB+acosB
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® tan45s° @ sin40° @ sin45°

@ cos 30° 3 cos 40°



5. ohF #3322 AABC oA /B =85°, «C = A
65°, BC =10 & m, AB °] ZAo|& A5H ot
A Zpe] 7kA] Fstolet, (T, sin65° = 0.9063)




6.

o2 19 9] AABC ©f|A 4FZtH] 9]
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34°
A

Zte sin cos tan

54° 0.8090 0.5878 1.3764

55° 0.8192 0.5736 1,4281

56° 0.8290 0.5592 1.4826
D 5.592 @ 8.29 ® 13.882
@ 923.882 3 29.107
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@ 2cos35° © 1-cos35°

© 2-tan35° ® 2-2cos35°
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10. ot stue MAA7A oA 200m ol A Q3 WAH 7T} g
7} o]F= Zt = 420 o]}, St MA R oA SEAYE Em
Azl J=A] Fatolat, (H sin48° = 0.7431 , cos48° = 0.6691 )




11. o8 A2 25 B3 cos10°—tan 10°+2sin 10° x tan 50 ° 9] ZF2
4ot EAARIA 7017

Zte sin cos tan
10° 0.17 0.98 0.18
35° 0.57 0.82 0.70
50° 0.77 0.64 1.20

@D 1.15 ® 1.17 3 1.19 @ 1.21 3 1.23
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13. sinx=3cosx¥ W, sinxcos x 2] Z-& Fotod2t. (H, 0° < x < 90°)
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@ y=3x+4V3
® y=3V3x+4
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15. g £ olgstel
(tan44° + cos 46 ° — 2sin 45 °) x 10000 2] g o=t

Zte sin cos tan

44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0,7193 0.6947 1,0355

D 246 ® 967 3 1760 @ 92462 ® 3240



16. o3 2H3 Zo] ¥ix]52] do]7h 1 91 AREHNA] cos 35°+tan 35°+
sin 55° 9] #k2?
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D 1.40 ® 1.96 3 2.09 @ 2.34 B 2.46



17. o AZHH]9] BEE 0] 8519 sinl15° + tan16° — cos 14° 2] S
stolet,

Eag= AtRl(sin) TAQl(cos) | EHHIE(tan)
14° 0.2419 0.9703 0.2493
15° 0.2588 0.9659 0.2679
16° 0.2756 0.9613 0.2867
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95 sinx COSzT tanz
43° 0.6820 0.,7314 0.9325
44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0.7193 0.6947 1,0355
47° 0,7314 0.6821 1.0724

@ 0.6821

@ 0.7314

@ 0.6947 @ 0.7193

3 0.9325
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45° < x<90° Y W, V1 - 2sinxcosx+ VI + 2sinxcosx = 7+t
SHH?

@ —sinx @ —2sinx @ sinx

@ 2sinx B 3sinx
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